Oyl Wl U 590 3T anadti Col 0 g S o

207A

VFYNY/oF

DY

&

Js

-
—
@\
A

PAY q
v Cog alld JLis wb oole Jilumo dino yo» Q
AV 4 S0y phizo plie

Ol (ol (55 580
S 5 Do pgle ©)l55

2558 30 o Dl

ov

an

ouv

an

((gbw) =\FPY &5) S0 211

[ >
G >
U A3 1+ 1 o sl ylojae Vo8 1 Jlgmo Slonss 1

)2
>
U Sl 0 5Loit 5 Slass o giloxiiol Slgo lgie
oylos B | ojylods 51 | Jlguw olows Lol Slgo K0,

[ = . >
G vo \ YO (slS) e 5 sogos o5 | ) 4

sleya Sle o (b Gle) e (2hb Gl Sle
g (s (polidazols ¢ g GlAdg Co pto dlaidl 5 b3l )g

b By % &b &b 2 e b (L) ler g olnl e Sl g o BB |
(Ml e 3 Ll )b g i iinto (2b
[ ¢ o8 I sl >, 4 .)‘ o ¢l J.A..\.J "‘L..)&.)‘

g $d A vi o Ul il celm gy g Hge gl Jis) g g Sl sl | o 2

(Awiin 9 Sy5:8

an

IR R IR IR IR IR R IR R IR R IR R IR R IR O[RG

0418 oo 0 y0d ‘Qg.oﬂ ol

ou

N YN Y N\ Y N Y Y Y N Y Y N YYD

i jlmo Ol piilo 31 ooliswl

g g0 by Ol yio iy (paliia b g wbly oo 3o ylojl (! 920 b g (Sgho g i ol (oo (6T ecrg03T (61552 31t (o g (Stig i1 ) gy p2 ) YT L g iS5 0l 3>




Oyl Wl U 590 3T anadti Col 0 g S o

Y axio 207 A ((HgLd) = VYFY 0S) sxio o )b
ol 53031 dudsr 30 Lo ygud> i A ods 3§ Jgue Wl yuien yo Lol g Wliasiino )8 pus « o0l 5 Clbogls s
0 ko (3099 LSS (ol @lfi b 518 05Locds b e ol

9 &9 blgw 4z 518 g dolidwly YU cdudar 43 99,9 )5 YU )3 g ko (clbgls 0)lod b 395 (Juiuo
i loioe anli 1y plaolinly raly 9 BJIgu a2 5388 (595 » oz yd J S oS

HW-9Y

(M/)‘fm"j oo b

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1-  If you want to excel at what you love and take your skills to the next level, you need
tomake a ......oeevvnnennnnn. to both yourself and your craft.
1) commitment 2) passion 3) statement 4) venture

2-  Itis usually difficult to ........cccevenneen. clearly between fact and fiction in her books.
1) gloat 2) rely 3) raise 4) distinguish

3-  Some people seem to lack a moral .................... , but those who have one are
capable of making the right choice when confronted with difficult decisions.
1) aspect 2) compass 3) dilemma 4) sensation

4-  The factual error may be insignificant; but it is surprising in a book put out by a/an
.................... academic publisher.
1) complacent 2) incipient 3) prestigious 4) notorious

5- In a society conditioned for instant .................... , most people want quick results.
1) marrow 2) gratification 3) spontaneity 4) consternation

6- One medically-qualified official was .................. that a product could be so

beneficial and yet not have its medical benefit matched by commensurate
commercial opportunity.

1) incredulous 2) quintessential 3) appeased 4) exhilarated
7-  Some aspects of zoological gardens always ..........cccuvevnee. me, because animals are

put there expressly for the entertainment of the public.

1) deliberate 2) surmise 3) patronize 4) appall

PART B: Cloze Test

Online learning has been around for years, but it really took off during the
COVID-19 pandemic. Many schools and universities .................... (8) transition
to online learning, and this trend is likely to continue in the future. There are many
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benefits to online learning, .................... (9) accessibility and flexibility. Students
can learn at their own pace, and from anywhere in the world. Online learning
.................. (10) affordable than traditional in-person learning, making education
more accessible to a wider range of students.

1) forced to 2) have forced

3) were forced to 4) forcing

1) including increased 2) they include increasing
3) and increase 4) they are increased

1) is also more 2) also to be more

3) which is also more 4) is also so

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

11-

12-

PASSAGE I:

Industrial design is a largely 20th-century phenomenon. The first industrial designer
is often considered to be German architect Peter Behrens, who was heavily influenced
by the 19th-century English designer and poet William Morris and by the Arts and
Crafts movement, with which Morris was associated. Beginning in 1907, Behrens was
the artistic adviser for Universal Electric Company, for which he designed not only
industrial buildings but also small electrical appliances, from teakettles to fans.

In addition, he determined the company’s corporate identity, packaging, and
advertising. Behrens’s approach was an extension of what architects such as Frank
Lloyd Wright and Karl Friedrich Schinkel long practiced: total control of a designed
environment at all levels. Behrens, however, created designs for a corporate client,
intent on selling a service and related goods to the public, rather than for a middle-
class residential client or a royal patron, as in the cases of Wright and Schinkel,
respectively.

Behrens himself influenced many architect-designers of the next generation,
including Walter Gropius, founder of Germany’s famed Bauhaus school of design,
and Ludwig Mies van der Rohe, who served as a later director of the school. Founded
in 1919 in Weimar, Ger., the Bauhaus aimed to elevate and coordinate the design and
production of crafts and industrial goods for a new postimperial age.

The word “associated” in paragraph 1 is closest in meaning to ................... .
1) related 2) unfamiliar
3) fascinated 4) in disagreement

According to paragraph 1, which of the following statements is true about Peter

Behrens?

1) He served as the artistic adviser for a company in the early 19" century.

2) He designed small electrical appliances, from teakettles to fans, not industrial
buildings.

3) He was an English architect often considered to be the first industrial designer.

4) He was influenced by a 19"-century English poet and designer.
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13- All of the following people are mentioned in the passage EXCEPT .................... .
1) Walter Gropius 2) Peter Behrens
3) Carl Friedrich Gauss 4) Ludwig Mies van der Rohe
14- According to paragraph 2, all of the following jobs were somehow related to Peter

15-

17-

Behrens when he worked for Universal Electric Company EXCEPT determining the

COMPANY’S ¢evvrrnrennrenronnn .

1) corporate identity 2) economic policy

3) packaging 4) advertising

According to the passage, which of the following statements is true?

1) Karl Friedrich Schinkel created designs for a middle-class residential client.

2) Ludwig Mies van der Rohe was the founder of Germany’s famed Bauhaus school
of design.

3) The Arts and Crafts movement was a German movement influenced by the
emergence of industrial design.

4) Peter Behrens somehow influenced many architects including the founder of
Germany’s famed Bauhaus school of design.

PASSAGE 2:

In industrial workstation design the primary concern has usually been the
improvement of the performance of the equipment alone. Little consideration is given
towards matching the abilities of the operator with the task requirements.
Consequently, many industrial workstations are poorly designed, resulting in lost
worker productivity and unnecessary injury at the workplace. [1]

An ergonomics approach to the design of an industrial workstation attempts to
achieve an appropriate balance between the worker capabilities and work
requirements to optimize worker productivity and the total system, as well as provide
workers with physical and mental well-being, job satisfaction and safety. [2] Over the
years, many theories, principles, methods and data relevant to the workstation design
have been generated through ergonomics research.

Basic design rules or guidelines for a successful industrial workstation have
been provided by Khalil (1972) and Tichauer (1975), among others. Corlett (1988)
has proposed the most comprehensive guidelines that include both task design and
workplace layout. [3] Many painful afflictions of musculoskeletal system, known
as cumulative trauma disorders (CTD), are associated with the working posture.
These are caused and aggravated sometimes by the repeated forceful exertions

connected with awkward work postures of the upper extremities. [4]

According to paragraph 1, if a workstation is poorly designed, ....................

1) it will result in numerous worker resignations.

2) it may lead to unnecessary injury at the workplace.

3) it may make workers tired, and they will leave work earlier.

4) it will decrease the skills and knowledge of the workers as well as their salary.
According to paragraph 2, an ergonomics approach to the design of an industrial
workstation seeks to do all of the following EXCEPT ................... s

1) reducing working hours

2) providing worker safety

3) optimizing worker productivity

4) providing worker mental well-being
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18- The word “aggravated” in paragraph 3 is closest in meaning to ................... .
1) cured 2) treated 3) intensified 4) accompanied
19- The passage provides sufficient information to answer which of the following
questions?

20-

21-

22-

I. What is a problem that is related to awkward work postures?

II. How long is it that data relevant to the workstation design is being generated
through ergonomics research?

III. When was the concept of industrial design first applied to building suitable
workstations?

1) Only 1 2) I and III 3)land II 4) Il and III

In which position marked by [1], [2], [3] or [4], can the following sentence best be

inserted in the passage?

These guidelines emphasize the requirement of healthy operator posture and they

are directed towards improvement of the operator’s physiological efficiency.

D [1] 2) 2] 3) [3] 4) [4]
PASSAGE 3:

Product innovation in an era of dynamic technology emphasizes the need to
recognize that success in the marketplace can only be achieved when the
interdependence of engineering and industrial design together with other relevant
disciplines is recognized. Engineering-based manufacture depends for success upon
the close collaboration of technologists, engineers, industrial designers,
ergonomists, marketing specialists and cost accountants.

During the twentieth century, attitudes in the U.K. have in the main separated
these necessary functions and interdependencies in product development resulting
in poor economic performance in a highly competitive marketplace. The concept of
the “innovation team™ has too rarely been applied. A basic reason for many of these
problems may well be based on the general inability of educational institutions to
co-relate subject disciplines in order to provide the skills necessary for innovative
teams in industry.

The highly interdisciplinary and integrated approach at Napier College, now
providing honors graduates in Industrial Design, develops the required form of
graduate expertise for innovative teams in manufacturing-based industry. Graduates
are able to work with both engineers and commercial experts on equal terms and in
that relationship to contribute their essential impact to successful product
development.

According to paragraph 1, the success of engineering-based manufacture depends
on the collaboration of which of the following groups?

1) Ergonomists, engineers, economists, and cost accountants

2) Technologists, ergonomists, engineers and cost accountants

3) Marketing specialists, ergonomists, industrial designers and economists

4) Industrial designers, marketing specialists, policy makers and ergonomists

The word “era” in paragraph 1 is closest in meaning to ................... .

1) field 2) sense

3) period 4) academic discipline
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23- Which of the following best describes the author’s attitude to the concept of the
“innovation team”?

1) Approving 2) Ambivalent
3) Disapproving 4) Guarded approval

24- According to paragraph 2, attitudes in the U.K. in the 20th century, generally
separated .........ceeeiiinnnnnn .

1) the necessary functions and interdependencies in product development

2) necessary functions in product development and research at the universities

3) the interdependencies in product development and national unemployment rate

4) the main function of industrial design on the one hand, and the essential mission
of the academia as a social institution, on the other

25- Why does the author mention Napier College in paragraph 3?

1) To change the subject from the discussion of industrial design in a commercial
setting to an exploration of its future in the academia

2) To demonstrate, by way of example, that universities in the UK consider the end
product and income to be of utmost importance

3) To introduce Napier College as the leading university in the field of Industrial
Design on the global level

4) To give an example of an educational institution that has solved a problem
mentioned earlier in the passage
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